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1. According to history, "Beowulf" was roughly written how much earlier than

"Sir Gawain and The Green Knight?" (C)

A. 50 years

B. 300 years

C. 500 years

D. They were written around the same time

2. Allitcrative Verse was used in the Middle Ages most likely because   (A)

A. It made oral tradition much easier to pass on to one another

B. It was easier to follow and understand

C. Allitcrative verse wasn't really used in the Middle Ages

D. It was better entertainment for the lower classes

3. Chaucer's reputation rose and was read to thousands of people. Part of his

rise in popularity was due to   (C)

A. The rise of Literature as a discipline

B. The beginnings of Manuscript poetry

C. The rise of the novel and realism

D. The end of the Renaissance

Audra

1. Which of the following brought a level of unity to the chaos of the Middle Ages?

a.) Language

b.) National Identity

c.) Religion*

d.) Periods of Culture

2. Which of the following best describes the work of Beowulf as a whole?

a.) Commentary on Christianity

b.) Christian Commentary on Pagan Society*

c.) Commentary on Society

d.) Commentary on Values

3. Which author contained in the Renaissance anthology was on a diplomatic mission in the Netherlands when he wrote his contribution(s) to the Norton

Anthology?

a.) William Shakespeare

b.) Francis Bacon

c.) Edmund Spenser

d.) Thomas More*

Kyra Rosow

Assignment Two

1   What is the name of the king that Beowulf comes to fight for?

A   Halfdane

B   Hrothgar*

C   Arthur

D   Beowulf doesn’t fight for a king

2   .In Gawain and the Green Knight, Gawain and the host agree to partake in a game.  The host explains the rules of the game saying, “Whatever I win in the woods I will give you at eve, and all you have earned you must offer to me.” 

What does the host win in the woods?

A   .Deer, Fox, and Boar*

B   .Deer, Fox, and Bear

C   .Fox, Wolf, Bear

D   .Fox, Squirrel, Bear

3   .Why did King Henry VIII create the “Church of England”, later known as Protestantism?

A   . He wanted to be immortalized by creating a new sect of Christianity

B   . He wanted a divorce because he wanted to marry Queen Catherine

C   . He wanted a divorce because his first wife couldn’t have any boys*

D   . He believed in the doctrines of Martin Luther

On 9/18/06, Emily Morrison <emilycmorrison@gmail.com> wrote:

The Cannon of English is similar to the Cannon of the Bible because:

a) They were written around the same time

b) They each have two parts

c) They are widely read today

d) There are Christian works.

In the Middle Ages, the language of the Catholic Church was:

a) English

b) Latin

c) French

d) German

When the young woman changes Gaiwan to kiss her she is challenging his:

a) Knighthood

b) Masculinity

c) Pride

d) Nobility

Chaucer's General Prolouge is different from Beuwolf because:

a) Beuwouf is a more realistic piece then the General Prolouge.

b) Chaucer is pagen but writes about a Christian society.

c) Beuwouf contains a moral meaning and lesson for the readers.

d) Chaucer attempts to portray life as he witnessed it.

Danielle:

The themes involved in Sir Gawain and the Green night would probably be described most as:

a) Sex, drugs and rock&roll

b) Sex, drugs, and violence

c) Sex, alchol and violence

d) Sex, religion and violence

Chaucer became an important poet because of his:

a) realism

b) daoism

c) dualism

d) materialism

Beowulf begins and ends with a

a) wedding

b) funeral

c) baptisim

d) bris

-Joann Cassano

What gamble did John Milton take when he wrote "Paradise Lost"?

A- He was assuming that more people were learning how to read

B- He was assuming English would someday overpower Latin and become a

dominant language

C- Some of his views were against those of power and politics in his time

D- He may not have had enough paper

During the Renaissance, who were "the others"?

A- The Hugenots

B- The Spanish

C- The Muslims

D- The Jewish

What was the evolution of languages spoken in old Britain?

A- Roman; German; French

B- Roman; French; German

C- English; Porteguese; French

D- Roman; German; English

Shella:

What are the three themes of the Romance period?

A. Violence, Sex, Religion

B. Class, Sex, Violence

C. Religion, Class, Violence

D. Class, Religion, Sex

(A)

What is the format of a Shakespearian Sonnet?

A. A,B,C,D

B. A,B,A,B

C. A,B,B,A

D. A,B,E,F

(B)

What is the format of a Petrarchan Sonnet?

A. A,B,A,B

B. B,A,B,C

C. A,B,B,A

D. A,B,C,D

(C)

-Meghan Malinowski
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The middle position is considered the position of honor in British Literature. In Chaucer's The Canterbury Tales, which character is given the position of honor?

A. The Wife of Bath

B. There is no character is given the middle spot

C. The Squire

D. Geoffrey Chaucer

What does the five pointed star on Gawain's shield represent?

A. The number of times he was tempted by the hosts' wife

B. His dedication to his Christian faith

C. His family crest

D. The five knightly virtues

Grendel is often compared to:

A. The Devil

B. Cain

C. Henry the VIII

D. A violent plague sweeping across the nation

Katie Kyle

Which commodity of the Ottoman Empire had the greatest impact on the European Renaissance?

a) Greek literature that had been translated into Arabic

b) Sophisticated forms of government

c) Trade goods

d) The printing press

How do Latin Humanists regard the period of time from the Middle Ages to the Renaissance?

a) As a disjointed period filled with philosophical and religious upheaval.

b) As a time of continuity during which Latin and Catholicism were constant factors.

c) As a time of chivalry and grace.

d) As a time during which very little of importance occurred.

"Gawain and the Green Knight" was intended as:

a) an example of virtue for people to follow

b) a bawdy tale for entertainment

c) a condemnation of the barbarity of pagans

d) an account of an historical event

Who introduced the sonnet into English poetry?

A. Shakespeare

B. Sir Thomas Wyatt

C. Surrey

D. The Beowulf poet

Of which religion was the Beowulf poet?

A. Christian

B. Pagan

C. Muslim

D. Protestant

What does Green Knight's hair represent?

A. fertility

B. youth

C. wildness

D. all of the above

-Hali

Conor Bracken:

Who was the first prolific English-language writer?

a. Alexander Pope

b. William Shakespeare

c. Geoffrey Chaucer

d. Ralph Ellison

What type of poem best fits "Beowulf"?

a. epic

b. elegy

c. tragedy

d. simple

In "Sir Gawain and the Green Knight," what feeling or attribute best represents the boar, and Gawains second encounter with his temptress?

a. cunning

b. viciousness

c. lust

d. piety

Eliza Hiatt

When was "Sir Gawain and the Green Knight" written?

*A   .Late 14th century

B   .Early 14th century

C   .12th century

D   .16th century

The Wife of Bath believes that women want what most above all things?

A   .Faithful Husband

*B   .Sovereignty over their husband

C   .Everlasting Youth

D   .Power over the World

In Beowulf, Grendel’s mother abducts and kills who?

A   .Beowulf

B   .Hrothgar

C   .Modthryth

*D   .Aeschere

Laura Ingles:

1. How many types of English dictionary were used in the 19th century?

a) 1

b) 2

c) 3

d) 0

answer: b

Which of the following is NOT a reason why Beowulf should not be a part of the English canon?

a) there are no English characters

b) it does not concern the origins of England

c) both Pagan and Christian values are evident

d) the manuscript is from 10th century Alred the Great

answer: c

Who was king during Chaucer's years?

a) Edward III

b) Henry III

c) Henry IV

d) Edward II

answer: a

About how many manuscripts of the Canterbury Tales survived?

a) 100

b) 10

c) 30

d) 80

answer: d

Europe was considered "backwards" from which society?

a) Jewish

b) American-Indian

c) Muslim

d) Black

answer: c

6. During which centuries did Greek literature's popularity grow?

a) 12th-13th

b) 15th-16th

c) 16th-17th

d) 10th-11th

answer: a

7. Which city did Italy consider a "power center" and attempt to mimic

(archictecturally and culturally)?

a) Paris

b) Mecca

c) Madrid

d) Dublin

answer: b

8. Which was one of Lond's first theaters?

a) The Red Lion

b) The Theater

c) The Globe Theater

d) The Rose Theater

answer: a

9. The art of printing from movable metal type was a _______ invention.

a) French

b) Italian

c) German

d) British

answer: c

10. British Literature can be traced first back to where?

a) London

b) Rome

c) Oxford

d) Wales

answer: b

Michael Littier

What brings about Beowulf's tragic downfall?

a) His Pride *

b) The Magic Sword

c) The Dragon

d) Chuck Norris

What is a caesura?

a) A type of salad

b) A pause in the middle of a line of poetry*

c) A Roman Emporer

d) The paragraphs in a poem

What is a major difference between Beowulf and Sir Gawain?

a) They lived at different times

b) Gawain remained humble throughout the tale rather than boastful*

c) Sir Gawain fights with a sword

d) They were enemies

Meghann Garmany

Which of the following is considered aural poetry?

a. Sir Gawain and the Green Knight

b. Sonnet 18 by William Shakespeare

c. The Wife of Bath

d. Of Great Place

In Sir Gawain and the Green Knight, which of the following is used as a symbol for knighly virtues?

a. Gawain's sword

b. lady Bracknell

c. the hunt

d. the pentagram

An Italian sonnet consists of

a. 3 quatrains and a couplet

b. 2 sestets

c. an octave and a sestet

d. a series of couplets

Darrell Jones

Who won the battle of Hastings in 1066?

Gaets

Normans**

Carthagenians

Colonel mustard in the conservatory with the candlestick

Who wrote The Divine Comedy ?

Machiavelli

Dante**

Francis Bacon

Milton

Anne Boleyn died due to which of the following:

Food poisoning

Black plague

Beheading**

Horn to the esophagus while running with the bulls in spain.

Whitney Hayes

Despite the fact that the author of "Beowulf" can be presumed to be Christian, Beowulf himself does not represent a Christian hero.  Which of the following does not support this statement?

A)   He does not display humility.

B)   He celebrates possessions.

C)   He gives credit of his victories to many gods, instead of just one.

D)   He believes in revenge rather than in “turning the other cheek.”

Christianity is a strong theme in "Sir Gawain and the Green Knight".  Which of the following is one of the only elements of paganism in the poem?

A)   The painting on the inside of Gawain’s shield.

B)   The symbolism of the Green Knight

C)   The equality between men and women (symbolized by the women sitting at tables with the men)

D)    The seductive behavior of the woman of the castle towards Gawain

Which of the following is one of the reasons it was nearly impossible to sustain a professional writing career in 16th-century England?

A)   The copyright on books was easily stolen.

B)   Virtually no one was able to read and write and therefore sales on books were extremely low.

C)   Books were too expensive.

D)   Royalties were not paid to the author according to book sales.

Alysha Jay:

What was the order of animal slayings in Sir Gawain?

A- deer, boar, fox *

B- boar, deer, fox

C- wolf, deer, fox

D- deer, wolf, fox

According to Sir Francis Bacon, what are the four main things to avoid for men

of great place?

A- corruption, delay, overzealousness, felicity

B- delays, roughness, sickness, corruption

C- weakness, facility, corruption, roughness

D- delays, corruption, roughness, facility*

Beowulf was a part of what race of peoples?

A- Geats*

B- Saxons

C- Mexicans

D- Finns

Joselyn Takacs

In what language was Thomas Moore’s Utopia originally written in

a)   English

b)   French

c)   Latin*

Traditionally, young men attending university in the sixteenth century primarily

went to educate themselves and few actually obtained degrees.

a)   true*

b)   false

The spread of literacy in the sixteenth century can be attributed to:

a)   The emphasis of Protestantism to read the bible

b)   The invention of a moveable type printing press

c)   The Reign of Henry VII

d)   a and b only*

e)   all of the above

